IMPORTANT QUESTIONS
ON

RANKING

Question 1. Kanmani ranked sixteenth from the top and twenty ninth from the
bottom among those who passed an examination. Six boys did not participate
in the competition and five failed in it. How many boys were there in the class?
A. 35

B. 45

C. 50

D. 55

Question 2. Murugan is sixth from the left end and Prasanna is tenth from the
right end in a row of boys. If there are eight boys between Murugan and
Prasanna, how many boys are there in the row?

A. 21

B. 23

C.24

D. 25

Question 3. In a row of girls, Nithya and Suganya occupy the ninth place from
the right end and tenth place from the left end, respectively. If they interchange
their places, then Nithya and Suganya occupy seventeenth place from the right
and eighteenth place from the left respectively. How many girls are there in the
row?

A. 22

B. 24

C. 26

D. 28

Question 4. In a queue of children, Arun is fifth from the left and Suresh is
sixth from the right. When they interchange their places among themselves,
Arun becomes thirteenth from the left. Then, what will be Suresh’s position
from the right?

A. 8th

B. 14th



C. 15th

D. 16th

Question 5. In a queue, Arun is 10th from the front while Mukesh is 25th from
behind and Maha is just in the middle of the two. If there be 50 persons in the
queue, What position does Maha occupy from the front?

A. 17th

B. 18th

C. 19th

D. 20th

Question 6. In a row of boys, if A who is tenth from the left and B who is ninth
from the right interchange their positions. A becomes fifteenth from the left.
How many boys are there in the row?

A. 21

B. 23

C.27

D. 28

Question 7. In a row of girls, Ramya is fifth from the left and Priya is sixth from
the right. When they exchange their positions, then Ramya becomes thirteenth
from the left. What will be Priya’s position from the right?

A. 7th

B. 9th

C. 12th

D. 14th

Question 8. If Ajay finds that he is twelth from the right in a line of boys and
fourth from the left, how many boys should be added to the line such that
there are 28 boys in the line?

A. 13

B. 14

C.16

D. 20

Question 9. In a row of boys, A is fifteenth from the left and B is fourth from the
right. There are three boys between A and B, C is just left of A. What is the C’s
position from the right?

A. 5th

B. 9th

C. 12th

D. 13th

Question 10. In a queue, Viji is fourteenth from the front and Jack is
seventeenth from the end, while Mary is in between Viji and Jack. If Viji be
ahead of Jack and there be 48 persons in the queue, how many persons are
there between Viji and Mary?



A. 5
B.6
C.7
D.8
Question 11. Mahi ranked ninth from the top and thirty eighth from the bottom

in a class. How many students are there in the class?
A. 42

B. 44

C. 46

D. 48

Question 12. In a row of girls facing North, Reena is 10th to the left of Pallavi,
who is 21st from the right end. If Malini, who is 17th from the left end, is fourth
to the right of Reena, how many girls are there in the row?

A. 37

B. 41

C.43

D. 49

Question 13. Some boys are sitting in a row. P is sitting fourteenth from the left
and Q is seventh from the right. If there are four boys between P and Q, how
many boys are there in the row?

A. 19

B. 21

C.23

D. 25

Question 14. Vimal is 7 ranks ahead of Sathish in a class of 39. If Sathish’s
rank is seventeenth from the last, what is Vimal’s rank from the start?

A. 11th

B. 13th

C. 16th

D. 18th

Question 15. In a class of 35 students, Kamal is placed seventh from the
bottom whereasa Sunil is placed ninth from the top. Manoj is placed exactly in
between the two. What is Kamal’s position from Manoj?

A7

B.9

C.10

D.12

Question 16. In a queue, from the front the rank of Karthik is 10~ while from
behind the rank of Ajay is 25». Sovu is present in the middle of the two. It is
given that the total number of persons is 50. Then determine the rank of Sovu
from the front.

A-17



B-19
C-18
D-20

Question 17.In a row of girls Ankita is fourth from either side. How many girls are
there in the row?

A7
B.8
C.5
D.6

Question 18.In a row of boys Ram is 4« from left end and Shyam is 8+ from left end.
How many boys are there between Ram and Shyam?

A. 4

B.3

C.5

D.2

Question 19.In a row of girls, Sita is 6t from left end and Gita is 9+ from right end.
How many girls are there between Sita and Gita?

A 4

B.3

C.5

D. Data inadequate

Question 20.Rekha ranked 6t from top and 34« from bottom. How many students are
there in the class?

A. 39

B. 40

C. 38

D. 41

Question 21.The rank of Sharma is 25t from top and 26t from bottom in a list. If 13
persons have been wrongly listed and hence; will be removed, then what will be the
total number of persons in the list?

A. 36

B. 37

C. 38

D. 39

Question 22.Rank of Sujay is 15+ from the bottom in a group of 25 students. Find
his rank from below if 3 new students will be added to the top of the list.

A. 14

B. 11

C.12

D. 13



Question 23.In a row, 35 boys were sitting. From the right hand side, the position
of Kajal was 7+ whereas; position of Suresh from the left hand side was 9+. Meera
was sitting exactly in between Kajal and Suresh. Find the position of Kajal from
Suresh.

A1

B. 12

C.9

D. None of these

Question 24.Among the list of 64 shortlisted applicants, rank of Suresh is 54 from top
and rank of Radhika is 34 from bottom. How many candidates are present in between
Suresh and Radhika?

A. 21
B. 22
C.23
D. 24

Question 25.Rank of Vijay is 15" from the top and 18« from the bottom of the list that
shows the qualified candidates. Total 35 candidates have not qualified. Find the total
number of applicants.

A. 64
B. 65
C. 66
D. 67

ANY DOUBT REGARDING THIS QUESTION CALL- 8515823123 ONLY BETWEEN 10 a.m.
to 12 noon




